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Choose the correct letter.
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In the diagram, £A'B’C’ is an image of AABC. [ : vi A
Which rule describes this translation? 4 .
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The translation {x, y) > {(x = 3,y — 7) maps TUVW onto T'U'V'W’.
What translation maps T'U'V'W' onto TUVW ?
Exy) >+ 3,y—17) Helgy) > (e + 7,y — 3)
r\;‘G‘) { X, ,V) - (x 7 y R 3) X, .V) — ( X - 3‘ ¥ e 7)
Wi~k of the following is true for an isometry?
e preimage and the image are congruent.
B> The preimage is larger than the image.
CC> The preimage is smaller than the image.
(D> The preimage is in the same position as the image.
A RSV has coordinates R(2, 1), 5(3, 2), and V(2, 6). A translation maps point R
to R" at (4, 8). What are the coordinates for < for this translation?
CE> (-6, —4) & (3,2 -3,9) > (—4,13)
In the graph at the right, point D is reflected across the y-axis, ————p——-
What are the coordin~*-« ~€i image? e
&> (3,-1) 3, —1) ECIREETY
B> (3, 1) o> (-3, 1) e

The coordinates of the vertices of ACDE are C(1, 4), D(3, 6), and
E(7, 4). If the triangle is reflected over the line v = 3, what are the
coordinates of the image of D?

E> (3, —6) @ (3, -3) ;0) D (3,9)















